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5 6% 7k 8k 9% 10 116
B 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0
~11kg 0.0 o — 224 — - —
12 0.2 - 0.0 - - — —-
13 1.1 0.1 — - — — =
14 6.1 05 0.1 o = - -
15 27.3 56 0.3 0.0 — — _
16 68.4 14.1 1.6 0.0 — — —
17 1306 412 5.6 0.7 — — —
18 176.2 84.0 19.0 18 0.2 0.0 —
19 175.7 122.2 410 6.1 0.7 0.1 ==
20 152.3 153.2 78.1 17.0 25 0.6 0.1
21 100.3 147.8 107.4 387 7.7 1.2 0.0
22 64.0 132.1 132,1 59.9 14.8 3.2 0.3
23 36.8 915 132.8 87.8 30.6 49 0.9
24 22.0 66.5 19.8 101.6 46.2 106 2.1
25 12.8 433 99.0 113.1 715 26.0 6.0
26 7.3 27.5 72.3 108.7 83.4 37.8 9.8
27 55 19.1 516 959 90.9 50.2 15.3
28 39 13.0 36.2 75.2 97.5 62.6 251
29 23 9.1 236 61.1 929 73.0 36.8
30 19 7.0 19.8 463 80.5 80.8 47.4
31 12 5.2 123 355 64.8 775 55.7
32 11 35 10.4 30.8 54.3 77.1 64.5
a3 0.7 32 7.8 235 46.6 69.9 64,7
34 0.8 23 6.3 18.2 376 60.5 65.1
35 0.5 23 4.2 15.7 30.6 52.3 63.1
36 0.3 16 38 15 236 418 54.2
37 0.2 13 36 8.9 174 37.6 50.7
38 0.2 0.7 23 6.8 16.8 326 50.5
39 0.0 0.7 1.9 6.2 16.1 28.0 459
40 0.1 0.5 15 5.6 10.7 255 39.7
41 0.0 0.2 14 46 102 214 37.8
42 0.0 0.1 0.6 29 7.7 16.4 308
43 0.0 0.1 0.7 30 6.1 160 293
44 0.0 0.2 08 28 6.2 130 24.1
45 0.0 = 0.2 1.9 5.7 1.9 232
46 0.0 0.1 0.3 16 43 95 203
47 - 0.0 0.4 16 33 85 19.8
48 - 0.0 0.1 1.0 3.0 86 151
49 - 0.0 0.4 0.7 2.2 6.1 14.2
50 — 0.1 0.1 07 2.0 55 124
51 — = 0.1 0.8 2.5 4.6 9.0
52 — = — 0.6 15 42 10.5
53 = = 0.1 0.2 13 33 79
54 = — 0.1 0.1 0.6 27 6.0
55 = = 0.1 0.1 13 19 58
56 = = - 0.1 1.1 17 6.1
57 == = 0.0 0.1 0.5 1.8 41
58 == = = 0.0 07 1.7 37
59 = o = 0.2 0.3 15 37
60 — sas — 0.2 0.1 1.1 25
61 s = — 0.0 0.2 11 2.1
62 — — — = 0.2 0.9 27
63 - —_ — 0.0 0.2 08 18
64 _ — — 0.1 0.1 0.6 12
65 — — —_ — 0.1 05 15
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1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 &

— — — = = — ~11kg
— - = == — = 12
= — — — - — 13
— — — - — — 14
— _ — — — — 15
— — — —_ — — 16
— = . — — — 17
- — — — — — 18
0.0 — — L3 — — 19
— — — = — = 20
0.0 = = — A 2l 21
00 = == = — — 22
0.2 — - - — —_ 23
0.4 0.0 0.0 - = = 24
09 02 0.0 s = =1 25
1.2 03 = - — —_ 26
31 05 0.0 — — — 27
5.6 09 0.0 - = = 28
85 1.1 03 = e — 29
141 24 04 0.1 — — 30
19.3 41 04 — 0.0 — 3
257 55 1.0 0.0 — - 32
31.8 7.0 1.6 — 0.2 - 33
365 123 20 0.1 0.1 — 34
414 16.1 28 0.1 0.0 — 35
443 16.6 38 05 0.1 s 36
48.0 228 55 08 0.0 = 37
483 254 66 1.0 0.1 — 38
483 283 9.2 1.4 04 0.1 39
51.3 362 12.3 23 0.6 0.0 40
498 375 159 39 1.1 06 41
46.0 41.4 16.3 46 1.3 0.4 42
46.0 434 216 93 22 09 43
428 428 27.0 9.2 46 1.8 44
40.8 486 328 129 5.4 4.2 45
38.7 50.8 365 17.4 9.0 49 46
34.0 45.2 412 20.3 13.0 63 47
286 458 427 27.0 15.8 8.1 48
276 427 451 315 19.7 134 49
248 434 480 387 286 19.4 50
221 395 50.7 395 30.4 243 51
196 37.9 538 437 37.3 26.7 52
171 36.2 49.0 47.7 39.9 31.8 53
16.2 31.0 46.6 485 466 41.2 54
166 295 48.7 51.4 55.7 486 55
1186 269 437 50.6 50.6 49.7 56
1.1 221 376 45.4 49.8 52.7 57
9.2 19.4 34.0 448 54.6 525 58
89 1656 331 44.1 485 51.4 59
89 148 288 434 50.1 §7.7 60
6.4 11.8 24.0 37.7 453 51.3 61
59 10.1 20.0 338 422 47.1 62
45 9.1 18.0 321 396 44.2 63
35 7.9 14.4 26.3 35.4 445 64
46 9.6 139 255 333 418 65
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m
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0.3
0.3
02
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0.1

0.1
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0.1
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0.0

0.0
0.1

0.1

1.1
0.6
0.8
0.8
0.6

0.4
0.4
0.5
0.2
0.5

0.1
0.1
0.1
0.3
0.2

0.1
0.3
0.0
0.1

2
FEWHI AR (4-2)
(%o)
¥ i
4 i
128 138 145 158 168 178

33 6.5 123 19.5 284 337 66kg
25 57 10.9 189 232 300 67
25 53 98 163 229 258 68
24 a7 84 1.1 175 215 69
1.7 4.1 6.9 15.7 17.0 223 70
15 37 6.7 132 122 15.2 71
1.7 31 5.2 128 123 146 72
1.1 28 4.0 9.2 10.7 1.7 73
1.2 22 36 7.7 116 111 74
16 24 5.1 10.1 10.4 11.9 75
1.3 19 36 - 6.2 7.6 8.0 76
0.7 1.7 31 47 5.6 63 77
0.4 18 2.8 6.5 5.6 7.0 78
03 1.2 25 5.3 49 5.8 79
0.4 1.8 25 44 45 6.1 80
1.0 1.1 26 4.1 5.6 40 81
05 1.4 18 31 25 35 82
05 1.3 2.1 2.7 32 3.4 83
0.2 0.4 1.8 4.0 4.0 42 84
0.3 0.5 1.0 27 3.2 29 85
03 0.7 1.6 29 3.0 23 86
0.1 05 1.2 25 2.3 27 87
0.2 0.7 1.0 27 1.3 23 88
0.1 0.3 1.0 14 2.2 20 89
0.1 0.4 1.0 1.8 2.0 1.7 90
0.0 0.2 0.6 1.2 1.4 1.6 a1
0.1 0.4 0.8 0.9 09 1.1 92
0.2 0.1 0.7 1.5 1.3 1.2 93
02 0.2 0.3 1.3 15 1.1 94
0.0 0.2 0.4 0.7 08 1.1 95
0.0 0.1 0.3 1.0 05 05 96
0.1 0.1 0.5 0.7 1.4 08 97
0.1 0.1 0.1 0.6 0.8 0.4 98
S - 0.5 05 04 05 99
0.0 0.1 0.4 0.6 0.7 1.1 100
0.1 0.0 0.3 0.4 0.4 0.4 10
— 0.0 03 0.4 03 03 102
0.1 0.0 03 08 06 05 103
—_ 0.1 0.2 0.4 01 0.4 104
0.0 0.0 0.2 0.7 08 07 105
= — 02 0.4 03 05 106
0.0 0.1 0.2 0.1 03 03 107
—_— 0.0 0.2 03 0.3 0.4 108
— —_ 0.1 0.1 0.1 0.2 108
— 0.0 0.1 0.2 0.2 0.1 110
— — 0.1 = 0.0 0.0 11
= _ 0.0 0.0 0.0 —_ 112
— =¥ 0.0 0.0 0.0 = 113
e, Aty —_— 01 0.2 0.2 114
e sk — 0.1 0.4 0.2 116
Al == 0.0 — 0.1 —_ 16
—_ —_ 0.0 — — 0.1 117
e SEE — 0.1 01 0.2 118
_ = — 0.0 = 0.1 119
—_ —_ — 0.2 0.1 02 120
— — = - - 0.1 121
- — — 0.0 — — 122
- . 0.0 el — = 123
— oy — —_ — 0.0 124
— — 0.1 0.1 0.2 0.4 125~
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5 6 ik 7 8 9 1088 118k
it 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0
~11kg 0.0 - - — — - —
12 0.2 0.0 == = = = =
13 2.4 03 =t — — — —
14 12.4 1.7 0.2 = == — =
15 424 7.9 0.7 0.1 = = =
16 921 25.3 26 0.4 . — =
17 149.7 58.4 10.2 1.1 03 — —
18 180.0 99.1 26.2 3.6 0.3 0.1 —
19 162.0 138.1 54.7 10.0 1.3 0.2 —
20 1332 158.3 93.4 26.4 5.0 0.6 0.2
21 84.0 137.4 116.8 472 10.6 16 —
22 56.9 1131 131.7 716 209 39 0.4
23 327 80.9 127.9 91.7 36.5 89 1.2
24 19.2 55,5 112.0 105.0 57.3 15.3 2.0
25 12.3 37.7 88.4 114.2 76.6 29.2 43
26 6.6 243 61.1 101.0 845 395 8.6
27 4.9 176 46.7 0.6 91.1 498 12.7
28 2.7 13.0 32.0 71.9 88.8 60.0 189
29 2.3 85 25.5 58.3 776 65.4 27.4
30 1.2 7.7 19.3 479 74.2 720 349
3 05 46 135 33.0 64.3 71.6 39.9
32 0.7 31 8.8 27.0 55.0 66.9 49.7
a3 0.2 24 6.7 196 46.5 63.9 50.9
34 0.3 1.2 48 165 35.7 58.1 52.2
35 0.1 0.9 34 126 31.7 54.1 59.3
36 0.2 0.6 4.0 1.1 241 437 55.9
37 0.2 0.6 26 8.0 21.2 423 58.6
38 0.1 0.6 2.0 7. 15.9 37.3 51.7
39 0.1 0.4 09 57 15.1 311 52.7
40 0.1 0.2 0.9 4.8 1.8 28.1 53.6
41 0.0 0.2 0.8 2.8 83 229 463
42 — 0.1 05 2.7 8.0 21.0 431
43 — 0.1 04 1.9 7.1 17.0 396
44 = 0.0 0.2 1.4 5.8 148 31.1
45 = i 04 1.2 57 129 314
46 0.1 =i 0.1 0.7 42 11.4 24.2
47 — == 0.1 0.9 22 9.3 25,2
48 == = 0.3 03 22 76 19.1
49 = 01 0.2 0.4 2.2 6.9 15.2
50 0.0 — 0.1 04 1.3 65 14.8
51 - 0.0 0.0 0.3 0.7 48 121
52 — — — 0.1 1.1 4.1 10.5
53 — == 0.0 02 1.2 39 86
54 —_ - . —_ 05 19 7.8
55 . = — 02 0.3 22 55
56 — — — 0.1 0.6 20 6.8
57 — — — 0.0 05 1.2 43
58 — — - 0.0 04 16 45
59 — — — — 03 08 2.7
60 = - — 0.0 0.2 05 22
61 = = — — 0.2 05 1.5
62 - — —_ — 0.0 0.7 13
63 = = — = 0.1 0.4 1.0
64 — =5 — 0.0 0.1 03 0.9
65 = = = = X 0.1 1.1
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1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 L1

= = =3 = = = ~11kg
—_ — — — — — 12
— —_ — — —_ —_ 13
= = = = = = 14
— —_ —_ — —_ i 15
—_ — — —_ — — 16
= - - — i - 17
—_ — — —_ — — 18
. - —_— — — — 19
— - o= — — — 20
0.1 - - — - — 21
0.0 — —_ —_ — — 22
0.1 — - —_ —_ — 23
04 0.1 = = = — 24
0.7 0.0 — — — = 25
1.0 0.2 0.0 —_ _ = 26
23 0.2 —_ — —_ — 27
36 0.4 0.1 — i L 28
54 0.6 0.1 0.0 —_ — 29
88 1.8 0.0 — 0.0 —_ 30
1.6 18 03 — —_ 0.0 31
151 29 0.3 0.1 —_ s a2
21.2 4.0 0.8 04 0.3 0.1 33
247 75 09 0.3 0.3 02 34
309 9.7 28 0.7 0.6 03 a5
363 15.2 4.0 3.0 0.7 0.2 36
424 17.3 5.7 2 14 10 37
44.0 24.0 94 57 20 20 38
50.1 317 138 5.2 43 21 39
57.9 386 19.6 1.4 8.1 54 40
55.6 432 2386 14.8 10.9 8.7 a1
57.2 515 353 212 16.8 13.2 42
56.6 56.3 404 291 198 195 43
53.6 57.4 48.1 371 28.7 286 44
521 60.8 54.7 41.8 384 37.7 45
475 63.6 59.7 493 458 421 46
402 63.0 66.2 54.4 51.5 49.7 47
41.56 579 65.6 59.7 58.3 60.1 48
36.0 513 58.0 58.2 63.1 63.0 49
338 49.1 665 66.0 71.2 69.5 50
26,6 429 52.9 58.6 60.8 62.8 51
205 38.0 51.9 623 65.3 63.1 52
18.1 301 46.6 56.6 59.2 64.2 53
155 28.4 41.2 501 57.8 60.1 54
14.3 27.0 40.5 44.6 494 56.7 5153
118 21.0 29.5 383 41.6 43.1 56
100 15.9 275 339 389 423 57
8.0 131 229 316 334 36.2 58
81 1.4 1786 219 26.1 26.0 59
6.3 101 149 210 24.2 25.2 60
4.2 8.2 131 213 183 16.8 61
45 6.2 105 14.7 16.8 16.5 62
27 7.0 9.0 13.0 136 16.2 63
25 4.6 71 10.2 138 103 64
35 4.2 6.1 9.8 121 121 B5
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m
12
13
114
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17
18
s
120
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124
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0.3
0.1
0.0
0.1
0.1
0.1

0.1
0.1

0.0

0.0

0.1

0.7
0.4
0.7
0.8
03

0.1
02
0.2
0.0
01

01
0.2
0.1
0.1
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FEEBIOAR (4—4)
(%o)
& #
a
12 13 14 15 168k 171
1.8 3.4 5.1 6.9 7.9 6.4 66kg
22 26 3.2 6.5 6.5 6.5 67
1.5 21 38 5.2 5.4 6.5 68
11 18 29 37 35 37 69
1.3 1.9 26 36 47 33 70
09 13 13 37 21 28 n
0.5 1.1 2.1 23 21 28 72
0.6 1.1 17 28 20 1.7 73
05 0.8 13 20 25 20 74
0.5 1.0 15 25 14 15 75
0.2 05 1.0 1.2 13 11 76
02 0.7 0.7 1.0 1.1 13 77
0.4 03 0.6 1.3 0.7 08 78
0.1 0.3 05 15 06 1.0 79
0.4 04 0.8 0.6 05 1.0 80
0.2 0.3 0.3 13 0.6 03 81
01 02 0.4 0.4 0.5 0.4 82
0.1 0.4 0.2 0.4 0.1 0.5 83
0.1 02 03 0.6 0.4 09 84
0.1 0.1 0.4 03 03 0.4 85
03 03 0.3 03 0.4 0.3 86
0.0 0.1 0.1 0.4 0.6 0.1 87
0.1 0.1 03 03 0.4 0.1 88
0.0 0.2 0.1 0.6 0.4 03 89
0.1 0.1 0.1 03 02 0.1 90
0.0 0.0 0.1 0.2 0.1 0.0 91
0.0 - 03 0.2 01 0.1 92
0.0 0.0 01 0.1 0.1 0.1 93
0.1 0.0 0.1 0.3 0.2 0.2 94
0.0 0.0 — 041 0.1 0.1 95
— 0.0 0.1 0.0 03 0.1 96
— 0.0 0.1 0.0 0.1 0.0 97
— — 0.0 0.2 0.1 0.0 98
— 0.0 — 0.2 0.1 0.0 99
— 0.0 0.1 0.0 0.0 0.1 100
— — 0.0 0.1 0.0 0.1 101
0.0 —_ 0.0 0.1 — 01 102
— — 0.0 0.2 0.0 — 103
0.0 —_ 0.0 — —_ fa 104
— — — — 0.0 0.0 105
— — — 0.0 0.1 0.0 1086
—_ — 0.0 — — — 107
= = = - — 0.1 108
— — — — 0.1 — 109
= o — _ —_ — 110
— — — — — — m
== — o _ —_ — 12
— = — — — — 13
— — —_ —_ — — 14
— = - — — — 1156
— — — —_ —_ — 16
_ —_ — - — — n7
—_ — — — —_ — 18
— — — — — — 19
— - — — — — 120
— — == — — — 21
— — —_ —_ — —_ 122
= = I - —_ — 123
—_ — —_ — — — 124
= FLA R —_ —_ — 125~
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